®.05— 0.024 - —0.6
] Coo ]
L e A 0.022 -

= E ] —0.5
%.04:—---; ---------------------------------------------------- 0.02 -
%0355_ ''''''''''''''''''''''''''''''''''''''''''''''''''''' 0.018 _: —10.4
"0.03F 0.016 -
0.025F 0.014 R

0.02F 0.012 - .
0.015F 0.01

0.01 0.008 -
o.oosf—+—-§ ----------------------------------------------------------------- 0.006 -

O-:Ilillll:llllllllllllll|||||||| 0.004__.,,,,,,,,,,,,,,,,,,,..

2 F i 0.015 0.b2 0.025 0.03 0.035 0.04

< - —=— DQM_MKFEIT etraln
@ - — DéM:mkFit EWdefault_specPLess1

0.95 |-+ ememrenaadenaan. —— DOM”mkFit EWdefault“specPLess2

- —+— DOQM”mkFit EWdefault_specPLess3
r _'._ D M. mk |t_TT_NEWdefauIt specPLess4
091 5°075 0,02 0.025 0.03 0.035 0.04

Efficiency vs. cut on dz(PV)
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